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A B C A B
30145 4150 24.01 8.06 1.10 476 79.43
H=1100 41.19 23.83 5.96 1.10 473 76.81
~70><150><6 24.95 20.80 8.30 0 0 54.05
@4.3497kg/m 108,52 90.47 36.10 0 0 235.09 kg
702007 0 0 0 514 9.62 14.76
@6.2667kg/m 0 0 0 3221 60.28 92.49 kg

701506 102.98 59.58 20.37 2.70 11.82 197.45
@4.3497kg/m 447.93 259.15 88.60 11.74 51.41 858.83 kg

L-50<50<6 17.48 9.41 1.72 1.34 2.69 3264
@1.524kg/m 26.63 14.34 2.62 2.04 4.09 49.72 kg

120120 9.6 39 18 13 4.0 20.60
@7.240kg/m 69.50 28.23 13.03 9.41 29.0 149.13 kg
1385.26 kg

(DP-M) 12 5 2 2 4 25

0 5 2 0 0 7

12 5 2 2 4 25

@48.6><1.3200 40 40 16 4 8 108

48.6><1.2300 8 0 0 4 8 20

80><H400 1 0 3 1 1 6




30145 2015 =<  20.596 m? 4150
H=1100 7.350 13.246 < 2 m 41.19
-70><150><6 2.075 =< 10 m 20.75
2100 < 2 m 4.20
m 24.95
-70><150><6 7.350 > m 36.75
13.246 < m 66.23
m 102.98
L-50><50><6 0.6725 =< 26 m 17.48
[1120>=<120 03 < 6 m 18
[1120>=120 10 < 1 m 1.0
[1120>=<120 12 < 2 m 2.4
[1120>=120 14 < 2 m 2.8
[1120>=<120 16 < 1 m 16
m 9.6
(DP-M) 12
12
@48.6>< 3200 40

@48.6>< 2300

@80> H400




30><145 2.015 > 11.917 m? 24.01
H=1100 11917 =< 2 m 23.83
-70><150><6 2075 < 8 m 16.60

21 < 2 m 4.20

m 20.80

-70><150><6 11917 < 5 m 59.58
L-50><50><6 0.6725 < 14 m 941
[1120><120 03 =< 7 m 21
[1120><120 04 < 1 m 04
[1120><120 06 < 1 m 0.6
[1120><120 08 < 1 m 0.8

m 3.9

(DP-M) 5

5

5

@48.6>< 3200 40




/

30><145 2015 =< 4.000 m? 8.06
H=1100 3.920 2.040 m 5.96
-70>=<150><6 2075 < 4 m 8.30
-70><150><6 4075 < 5 m 20.37
L-50=50>=<6 06725 < 2 m 1.35
03800 =< 1 m 0.38
m 1.72
1120120 03 < 2 m 0.6
[1120><120 05 =< 1 m 05
1120120 07 < 1 m 0.7
m 18

(DP-M)
@48.6>< 3200 16
@80>= H400 3
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A
/

30145 2015 X 0.550 m? 1.10
H=1100 0550 >< 2 m 1.10
-70>=<200><7 2572 < 2 m 514
-70>=<150><6 0540 < 5 m 2.70
L-50>=<50><6 06725 < 2 m 1.34
[1120><120 03 < 1 m 0.3
[1120>=<120 10 < 1 m 10
m 13
(DP-M) 2
2
@48.6>< 3200 4
48.6>< 2300 4
@80> H400 1
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B
/
30145 2.015 = 2.365 m? 4,76
H=1100 2365 < 2 m 4,73
-70><200><7 2584 =< 2 m 5.17
2228 < 2 m 4.46
m 9.62
-70>=<150>=<6 2365 %< 5 m 11.82
L-50=<50><6 06725 < 4 m 2.69
[1120><120 03 < 2 m 0.6
[1120>=120 16 < 1 m 1.6
[1120><120 18 < 1 m 1.8
m 4.0
(DP-M) 4
4
@48.6>= 3200 8
@48.6>< 2300 8
@80>= H400 1
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18-8-40BB 25.6
84.5

RC-40 , t=20cm 36.1
VP75 3.6
300>=<300><50 6
, t=10mm 1.1

\ , 1.5cm 9.1
©100>200 5.6
43

22

22

5.2
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(18-8-40BB)
(H=1833) 1/2><(0.300+1.400)<1.833 =  1.558 m’
(H=1705) 1/2>(0.300+1.323)<1.705 = 1.384 m’
(H=1437) 1/2><(0.300+1.162)><1.437 =  1.050 m’
(H=1566) 1/2><(0.300+1.240)<1.566 =  1.206 m’
(H=1418) 1/2><(0.300+1.151)><1.418 =  1.029 m’
(H=1298) 1/2>(0.300+1.079)><1.298 =  0.895 m’
(H=1030) 1/2><(0.300+0.918)><1.030 =  0.627 m’
(H=763)  1/2>(0.300+0.758)><0.763 =  0.404 m’
(H=500)  1/2><(0.300+0.600)><0.500 =  0.225 m’

1.558><2.600 4.051
-1/2>1.558><1.400 -1.091
1/2><(1.558+1.384)><2.400 3.530
1/2><(1.384+1.050)><5.000 6.085
1/2>(1.206+1.029)>=1/2><(2.781+2.628) 3.022
1/2><(1.029+0.895)>=<1/2> 2.219 2.066 2.061
1/2><(0.895+0.627)>5.000 3.805
1/2><(0.627+0.404)><5.000 2.578
1/2><(0.404+0.225)>=4.898 1.540

25.581
1.833><2.300 4.216
1.833><0.300 0.550
1/2>(1.833+1.705)><2.400 4.246
1/2><(1.705+1.437)><5.000 7.855
1/2>(1.566+1.418)>=2.781 4.149
1/2><(1.418+1.298)><2.219 3.013
1/2><(1.298+1.030)><5.000 5.820
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1/2>(1.030+0.763)>5.000 4.483
1/2>(0.763+0.500)><4.898 3.093
1.833>2.300><1.166 4.916
1.833>0.300><1.166 0.641
1/2>(1.833+1.705)>2.400><1.166 4.950
1/2><(1.705+1.437)><5.000>< 1.166 9.159
1/2><(1.566+1.418)>2.781><1.166 4.838
1/2><(1.418+1.298)>2.219><1.166 3.514
1/2>(1.298+1.030)><5.000><1.166 6.786
1/2><(1.030+0.763)>5.000><1.166 5.227
1/2>(0.763+0.500)><4.898><1.166 3.607
1/2><(0.300+1.400) > 1.833 1.558
1/2>(0.300+1.162) > 1.437 1.050
1/2>(0.300+0.918)>1.030 0.627
1/2>(0.300+0.600)><0.500 0.225

84.523

(RC-40,t=20cm)

1.600><2.600 4.160
-1/2>1.600>1.600 -1.280
1/2><(1.600+1.523)>2.400 3.748
1/2>(1.523+1.362)><5.000 7.213
1/2><(1.440+1.351)>2.781 3.881
1/2><(1.351+1.279)>2.219 2.918
1/2>(1.279+1.118)>5.000 5.993
1/2>(1.118+0.958)>5.000 5.190
1/2>(0.958+0.800)><4.898 4.305

36.128
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5m
(VPp75)
L= 29.897 m
N= 29.897/5.0 5.9 =
1 L=0.600m/
L= 0.600=<6 3.600
(300><300><50)
N= 6.000
1/2>=<(0.300+1.162)>=<1.437 1.050
( t=10mm)
1/2><(0.300+0.918)>=<1.030 0.627
1.677
1.5cm
v )
1.705+1.298+0.763 3.766
2.288+1.813+1.190 5.291
9.057
N=11
(¢p100><350) L= 0.350x<16 5.600
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~
)
| m
SIS
T o
S
=) N/
~
AR S
500 1051 500
] A=L.4 m’
NN A=0.7
1)
L= 29.897+0.500><2 = 30.897 m
V= 1.4%=<30.897 43.256
2)
V= 0.7>29.897+1.4>=<0.500><2 22.328
3)
V= (43.256-23.328)/0.9 22.142
NO.4+18.5 NO.5+12.7 L= 5.2
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10m

50 120
>0 120120
(1:3) —ar
7 /] 8 -
- o fN
o
JL,O
o
N
(18-8-2588) 50 170 (RC-40)
220
(120%<120)  N= 10.000/0.605 16.5
(1:3) 0.120>0.02010.000 0.024
(18-8-25BB) 0.170>0.10010.000 0.170
0.100<2<10.000 2.000
(RC-40,t=10cm)  0.220><10.000 2.200
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20

t=4cm 64
RC-40

t=10cm 62

t=5cm 62

t=5cm 13
RC-40

t=25cm 13

t=5cm 2
RC-40

t=20cm 2




21

t=4cm

2.000><5.000 10.000
2.000><16.996 33.992
2.000><10.006 20.012
-1/2><0.024>(17.083+10.139+2.000) -0.351

63.653

RC-40 t=10cm

2.000><5.000 10.000
2.000><16.996 33.992
2.000><10.006 20.012
-(1/2><0.060+0.024)><(17.083+10.139+2.000) -1.578

62.426

t=5cm

2.000><5.000 10.658
2.000><16.996 33.336
2.000><10.006 20.012
-(1/2><0.030+0.060+0.024) > (7.512+10.140+2.000) -1.946

62.060
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t=5cm
0.380><1/2><(5.471+5.813) 2.144
1/2><(0.143+0.200)>=<0.622 0.107
0.143><6.066 0.867
1/2><(0.887+0.972)><2.860 2.658
1/2><(0.900+0.500)><0.650 0.455
0.500>1/2><(6.902+6.969) 3.468
0.500>=1/2>(5.803+5.792) 2.899
0.250><0.250>=<4 0.250
12.848

RC-40 t=25cm

12.848

t=5cm
1/2><(0.540+0.600)><4.200 2.394

RC-40 t=20cm

2.394
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24

H=2.40m

21.3

H=2.40m

27.6
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NO.4+18.5 NO.5+3.5 5.2
(H=2.40m, )
NO.6+10.0 NO.7+0.9 11.2
NO.7+1.5 NO.7+6.3 4.9
21.3
(H=2.40m,
) NO.5+3.5 NO.6+10.0 27.6
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(H=2.40) Lo
I o= I 5| |
4 | : |
| | %
| | TN
T | §
|
| | §
4 W -
W /4
S T T 8
250 (RC-40)
(H=2.40m) L= m 10.0
(¢p50.8) N= 10.000/2.000 5.0
250> 250><450 10.000/2.000 5.0
(RC-40,t=10cm) 0.350><0.350><5 m? 0.613
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(H=2.40) 10m

i — & 8l L

! | : |

\ \ %

| | j

L !

| | g

| E
(H=2.40m) L= m 10.0
(¢p50.8) N= 10.000/2.000 5.0
100> 350 ( )

1/4> 71> (0.100°-0.0508%)>0.350 <5 m° 0.010
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29

m3 2.0

H=1.50m,W=0.10m L=5.20m 1.0
18-8-40 m3 1.6
m2 9.5

m2 8.2

H=1.50m,W=0.10m L=3.70m 1.0

1.0
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=0.60><0.95>=1.70 (0.60><0.95-0.50><0.85)><0.20

m3 0.94
=0.60><0.69><1.70 (0.60><0.69-0.50><0.59)><0.20
(0.20=<1.70 0.10><0.10)>=<1.13 m3 1.05
m3 1.99
H=1.50m W=0.10m L=5.20m
1
18-8-40
=0.60><0.95><1.70 (0.60><0.95-0.50><0.85)><0.20
m3 0.94
=0.60><0.69><1.70 (0.60><0.69-0.50><0.59)><0.20
m3 0.68
m3 1.62
=(0.60 0.95)><2>=1.50 (0.50 0.85)><2><0.20
m2 5.19
=(0.60 0.69)><2>=1.50 (0.50 0.59)><2><0.20
m2 4.31
m2 9.50
=(0.60 0.95)>=<2.0><1.50
m2 4.65
=(0.60 0.69 0.60 0.49)>=<1.50
m2 3.57
m2 8.22
H=1.50m W=0.10m L=3.70m
1
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H=0.30m 17.7
2.1
H=2.0m 10.8
AS t=5cm 28.3
AS t=5cm 39.7
t=40cm 1 3.0m3
t=10cm 1 0.1m3
t=30cm 1 2.3m3
t=15cm 1 0.2m3
t=15cm 1 0.2m3
t=10cm 1 0.1m3
2.5
2.0

10.8
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(H=0.300m)
NO.4+18.8 NO.5+14.2 17.7
NO.6+6.4 2.1
NO.6+15.3 NO.7+6.3 10.8
As
(t=5cm)
NO.4+18.5 NO.6+6.4 28.3
As
(t=5cm)
NO.4+18.5 NO.6+6.4 39.7
t=40cm 1
t=10cm 1
t=30cm 1
t=15cm 1
t=15cm 1
t=10cm 1
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0.894><0.1x<17.7 1.582

Co. 0.383><0.1x<17.7 0.678
0.120><0.120><2.1 0.030
0.17><0.1x<2.1 0.036
0.250>=<0.250><0.450><5>=10.8/10.0 0.152
2.478

39.7><0.050 1.985

10.8
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(H=300)

10m

30

0
300

4l

70%
30%

35cm  1/2>(0.310+0.420)><0.350><0.7><10.000

0.894

1/2>(0.310+0.420)>0.350><0.3><10.000

0.383
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10m

120,

o7

100, 120
s

120>=<120 L=

10.0

0.170><0.100><10.000

0.170
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10m

2000

05

0o0ve

(0014

000¢

0S¥

250

10.0

5.000

H=2.0m

10.000/2.000

N=

250>250><450
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=40cm
H=0.40><20=8.0m
V=1/4>=<0.40><0.40><3.14><8.0<3 m3 3.0
=10cm
H=0.10><20=2.0m
V=1/4>=<0.10><0.10><3.14><2.0x<3 m3 0.1
=30cm
H=0.30><20=6.0m
V=1/4>=<0.30><0.30><3.14><6.0<3 m3 2.3
=15cm
H=0.15><30=3.0m
V=1/4>=<0.15><0.15><3.14><3.0<3 m3 0.2
=15cm
H=0.15><20=3.0m
V=1/4>=<0.15><0.15><3.14><3.0x<3 m3 0.2
=10cm
H=0.10><20=2.0m
V=1/4>=<0.10><0.10><3.14><2.0<3 m3 0.1
m3 5.9




